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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Trend plot forP3-5 0

Warning: coll ['minFVliraw', 'minFVOraw'] lis missing

minFVI
minFVO

1. 04 A

1.02 A

1.00 p—@ @ @ @ @ ® @ @ @

—@— ETcA

0.98

——————— e e e [ e
]
®
([ ]
®
]
®
(]
®

0. 96 Warning: coll ["ETcATraw’, "ETcAl", ' ETCA"Zraw’ . "ETcA2’] is missing

0.0 0.2 0.4 0.6
10 1 1 1

0.8

0.8 -

0.6

0.4+

0.2 A
Warning: col [ ETcA2raw’, 'ETcA2avg’, 'ETcA2'] missing

0.0

2200 -

2000 -

1800

1600 ~

1400 ~

Warning: coll ["ECC’, 'ECI’, 'ECO'] is mi:ssing
1200 - —@— ECopt

6.8

—@— PHopt

.
I
®
®
®
®
®
®
®
®
——S—————— e L
®
®
®
®
®
®
®
®
®

Warning: coll ["PHC’, 'PHI’, 'PHO'] is mi'f;sing

31.5 4

31.0 -

30. 5

30.0 p—@& L 4 L 4 L 4 4 @ L 4 L 4 L 4

—@— WCperM

29.5 A

29.0
Warning: coll [WCperMraw', 'WCperMavg'] lis missing
28.5

0.50 p—@ ® @ ® 4 @ ® @ ®

0.45

0. 40

0. 35

0.30 p—@ L 4 L 4 L 4 4 \ 4 L 4 L 4 L 4

4 \ 4 L 4 o—{

—@®— minDeltaM
—O— avgDeltaM
—@— stdDeltaM

0.25 A

0.20 —@ L 4 \ 4 L 4 4 \ 4 L 4 \ 4 L 4

30 p—© @ @ @ @ @ @ @ @

28 -

26 -

G0 o beaM

—0— maxM
—@— minM

24 -

22 -

20 p—@ L 4 \ 4 L 4 4 \ 4 L 4 \ 4 L 4

4 \ 4 L 4 o—{

ad jFVOR

———t——————_————————— P ————————r— Y ————————8 T [ —— P —————— == =@ | ——— P ——— ——— e ——— - ——
®
¢
®
¢
®
¢
®
¢

Warning: coll ["adjFVIRraw’, "adjFVIR", "adeVORraw’] is missing

0. 56 Warning: col  ["FRA"] is missing

400 ~

350 A

300 -

250

200 -

150

100 -

50 A

o postFgEtraw
—@— postFgEtavg
—@— postFgEt




100

FgDaily

0.0 -

80

2.0 -

3.0 -

- 60

4.0 -

5.0 -

- 40

6.0 -

7.0 -

20



P3-5_0

—&— ETcl

—®— ETbai

800 -

600 -

400 ~

200 -

Warning: col ['VN'] missing

—@— ETclis
-0 ETcPT
—@— ETcRn

\,

14

12

10

0

1.

0.8

0.6 -

0.4 A

0.2 A

500 -
400 -

300 -

200
100 -



1213 J°PI1°13 d°113

00
0.75

14913 s!|213

0.50

0s3

-0.25

1013

-0.00

'eqld

--0.25

yd

-0.50

-0.75

pVPD

pR

ETol ETbai

ETcPT ETclis ESo

ETcldef ETcP

ETcl



ETcl

1

1

1

1

RH

800 ~

600 -

400 -

200 -

600

400 -

200 -

000 ~

800 -

26 A

24 A

22 -

20 A

18

16

14 1

60 -

55 ~

50 -

45 -

40 -

35 -

350 -

325 -

300 -

275 A

250 -

225 -

200 -

T T T
200 400 600
ETcl

800

T
1000

T
1200
ETol

T
1400

T
1600

15

20

25

40

RH

50

60

200

250

300

350



hour

100

10 -
15
80
15
15
- 60
15
140
- 40
:55
:10
20
:30
:10
I I I I I I I -0
R SR $ &
é§¥ égr %ﬁ» & éﬁ“ 4? %;5 %gr



P3-5

BfiE) | EBEETIC (FD) | EB=E (BAH/HK) | XK ERF
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BFE) | GEBRTIK () | ElE (EF/F) | XS R
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EREBRTK (120. 0) 57a8A (109. 0) RfF, FIREH T % @RE#1RS % XER

ZRINKPRIEBL77.0 ml.

unusual large postFgEt from yesterday (246), set to 210.0 ml.

REX 1 [B] RECEIE TR K.
RER B HEREC/PHIEERE, 7]

VNN
BEFZ

MEARBR TR




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-5 0, Day=9 (2025-04-07)

60

40 -

20 -

VI, VB3BRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 53939

100

75 1

50 -

25 A

41 49
00 Warning: lcol [FVI',| "FVO’'] missing 00 |
FR

v — M_E

maxM

- 600

- 400

- 200

=

I 38

w
- 36 =
- 34

32

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0,  TargetSetEC=1900. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.5

Warning: lcol ['PHB’,| 'PHC’'] missing

300

200

100 A

]
Bylnit @D1Q 02:46: ET=554 Fg=700.0 Ro=70.0
|

e o
—a

- 1000

- 500

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300

200

100 A

ByEt @D9 18:09: ET=674 Fg=819.0 Ro=nan

- 1000

- 500

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

3001 A | A | | BB 253|225 (2|2 (2| M5 | B [ |5 [ [ |5 (B |6 |5 [B |6 | /K

200

100 A

I
ByWoFyv @D1q 02:46: ET=449 Fg=630.0 Ro=57.0

o—o—6—9—8 8 8§

- 1000

- 500

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

0.8

0.6

0.4+

0.2~

A1 B [ | 2525|2252 |5 |2 | 0 | B | B | BB |5 | B | BF |5 [ | BE | Rs [ F | HS

0.0
1500 |
1000 -

500 -

—_—
[ ] | _obs
—@— PPFD obs

‘.“='H,=’||'=’., ® VP

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



- ME
34
T T T T T
500 600 700 800 900
m=690,m FV0=0
36. 6 - — N
36. 4 -
36.2 -
36.0 -
35. 8 -
T T T
690 695 700
m
30. 75
—o— MW
30. 50
30. 25
30. 00
29. 75
29. 50
29 25 - T T T T T
500 600 700 800 900
m=690,m FV0=0
—— MW
30.0 -
29.8 -
29.6 -
29. 4 -

695 700

m=480, FV0=0

38. 00 -
37.75 -
37.50 -
37.25 -
37.00 -
—o— ME
36. 75 15 | ,
480 485 490
m=720,m FV0=0
—o— ME
35. 4 -
35.2 -
35.0 -
34.8 -
34.6 -
T T T
720 725 730
m=480,m FV0=0
30. 2
30.0 -
29.8 -
29.6 -
29.4 -
—o— MW
480 485 490
m=720,m FV0=0
30.1 ~r
30.0 -
29.9 -
29.8 -
29.7 -
29.6 -
720 725 730

38.

38.

38.

38.

37.

34.

34.

33.

33.

30.

30.

30.

30.

29.

30.

29.

29.

29.

29.

29.

29.

m=540, FV0=0

—o— ME

T
540

5&5
m=780,n FV0=0

T
550

—o— ME

!

T
780

7é5
m=540,n FV0=0

T
790

—o— MW

540

5&5
m=780,n FV0=0

550

-— MW

/

780

785

790

38.

38.

37.

37.

34.

34.

34.

34.

34.

33.

30.

30.

30.

30.

30.

29,

29.

29.

m=600, FV0=0
—e— ME
2 .
0 .
8 .
6 .
660 665 650
m=840,m FV0=0
81 —o— ME
6 .
4 .
2 .
0 .
8 .
840 845 850
m=600,m FV0=0
—— MW
6 .
4 .
2 .
0 .
600 605 610
m=840,m FV0=0
—— MW
0 .
8 .
6 .
4 .

840 845 850




hour

6:40

7:40

10:15

11:45

13:15

15:05

100

80

60

40

20



P3-5

BfiE) | EBETK (D) | EE (EH/AR) | XK SR

06:40 120 80.0 5 B1%006:40 (KRFERSE)
07:40 120 80.0 |Z =& Bi%@07:40 (KFERSE)
10:15 120 80.0 5 Bi%010:15 (REERSE)
11:45 120 80.0 = BRige11:45 (REAERER)
13:15 120 80.0 = BRi1&@13:15 (RFEREE)
15:05 120 80.0 (&= RRi%@15:05 (KAL)
Bit| 720.0 (6%) 480.0 3ZHKEC: 1900.0, PH: 6.5
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